' &

14 WO B Ql [\T“.)\\

g8

/

5 b g ¢ A\ .
.
b "
~ -
[ 4 -~ -~
- ' L™ { N4
.~y L
[ g [ 2
N . .
- | SO ".-.‘ M % o 3!
— - L
4 SO 4 \ ‘\\\_73‘
1 t & T it -
A 1O ST hexanol
- " ]
< Lt T s et b
e - CUlVl-o CTRANOY

What s the IUPAC name for the following structure °

N
\’IKOH

(@) Cyclohexenol (5 3Cyvclohexen-1-o!

{c} 1-Cyclohexen-4-ol () 3-Cyclohexenol

Answer, (P)

3 Which of the following 1s/are secondary (27) alcohols ?

OH

HsC OH CH, OH CH, - _CH,
(X I | !ﬁ

\__/f CHy—CH—CH—CH; CH3;—CH—CH;OH

1 2 3 4
(a) only3 (h) 2,3and 4
() only2and 4 () onlyl
\nswer. (¢) .
4 Whatis the systematic name of tert-butyl alcohol ?
(a) 1-Methyl-2-propanol (h) 2-Methyl-3-butanol
(c) 2-Methyl-2-butanol () 2-Methyl-2-propanol
\nswer. (d) '
5. Which of the following is a tertiary alcohol ?
(@) 2-Methylcyclohexanol (h) 1-Methylcyclohexanol
(¢) 3~Melh.}‘|c-yclohcxanol () 2.2-Dimethylcyclohexanol

\nswer. (h)

6. What type of alcohol is this ?
CHs

CH3—?_CH2CH3
OH
(@) Primary (1) (b) Secondary (2)
(c) Tertiary (39) (d) None of these

\iswey, (c)

Scanned with CamScanner



330 CHAPTER ‘2 000 Sodved Pre Bloros 0 Crganic Lhemuging

W hat atosmse orhitials are aeed to torm the C-O bond in ap
3 i .

tlcohg)
of C and a p orbital ot O

"
{a) an s orbital ’ ’
’ 0 ; {
(by an ' arbital of C and an 5p arhital of
4 3 sf (
(¢} an s orhatal of and an 7 ¢ rhital of O
() oan y

() an «p' orttal of C and an orbital of O

Answer, ()

. r ele W 0 \
R What kind of orbital do the nonbonding electrons of th, My pey
L8 W | \,ij\ “
H . N
() They occupy o orhitals (h) They occupy p oy,
(c) They occupy sy orbitals () They occupy o Orhiig|

Anvwer. /)
9, How large s the 1 O H bond angle i water 7
(a} larger than the sp angle of 1200
(h) larger than the 1’ angle of 10895
(<) smaller than the v’ angle of 1095
() larger than the p angle of 180.0

Answer. ()

10. Which of the tollowing intermolecular forces are present in alcoh
(@) Dipale-dipole forces th) Dipele-induced dipol
(cy Hydrogen bonding () Al of the above

Answer. (/)

. Which of the following compounds can form hyvdrogen bonds hetu .
fay CHAOHAOCH CH, (hy CHAOH.CH.RBe
ter CHLOHOHOH tdy CHOHN(CH)

Answer, ()

12.

Aeohols have higher boiling points than alkanes of comparah!
because of

ta) hydrogen bonding thy duanal interactions

() stenic stram
Answer. ()

13.

() hyperconjugation

Which of the following molecules has the
() Butanol
fc) Butane
Answer. (1)

highest boiling point 7
th)y Dimethylbutylamine
(d) Methyl ethy! ether

14, The inlhmmg compound
boling poim ?
tay CH.CHO
{c) CHOCH,
Answer. (5H)
15.

s have similar molecular weights. Which has B

(hy CH.CHOH
(d) CH,CH-CH,
Which of the following has the highest boiling point 7

(’u! (‘”; (‘)-(,H., (hy CH.CH, OH
() CH, CH, CH, (dy CH-~CH CH-
Answer. (/) | o |

16. Which of the fnlim&ing has the highest boiling point ?
tay 1-Chlorobutane )

(h)y Butane
() 2-Butene tdy 1 B‘ut'lnnl
Answer, (/) )
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i1 Which of the follow g has the Aigrhe o beibing poi
) CHAOCH OO o 0 GO b g
b HOCHAHAOH 0l A OO
Amswer, ()
I8 Which of the follow Mg compounds 1s the most soluble in water

(ay Uvclopenty | alcokod

it volopentans
{f¢) 0w !."u‘\ LN

th Cyclopenty b methy ! ethes
Apswer. (o)

1e. Whach of the follow 'R 1% the most soluble i water !
@ CHOHAONY

() CHLCHLO0
ey ”\"'(H;(\” “I" CHAx M,

Apswer (0
M Which of the follow g compounds would You expect to be most soluble 1 water
tay CHAY, ) Coly s (evclohesane)
W CHAOH O W CHOC
Answer. | | |
M. Which reaction cannot be used to Prepare an alcohol 2
() additton of H.O) to an alkene
(5 hyvdroboration of alkencs

(1 atmgnard reagent with an aldehyde
() ouvdation of ¢thers
Anvwer, ()
2. Hydroboration results in "
(@) Analky| halide
(%) An alkane
() A Markovmikov addition producing an alcohol

() An anti-Markovnikon addition producing an alcohol

Answer, (/)
bR Acetone reacts with NaBH, followed by treatment with dilute acwd, to torm

(@) an acid () aketone (¢) an alcohal (dy h}drn;cn
Answer, (.

4. Which speciesis oadized i the follow Ing reaction ”
CHOHO © LIAIMG S CHLCHL.OH

e CH.CHO (hy LiAIH,
() CH,CH.OH () This 1s not a redon reaction
Answer, (/)
35 Which of the tollowing reactions will form a primary alcohol”?
'@} an aldehyde + a Grignard reagent
(5 aketone ~ NH.NH, HO heat
'€} analdehyde + H'/H.0
() an aldehvde + sodium borohydride followed by H' H-0
Answer, (/)
26,

Which of the following compounds gives a secondary alcoho! upon reaction with

Yimagnesium bromide ” A ssume the usual acid workup

tay Butyl formate (by 3-Pentanone
(¢} Pentanal () Methyl butanoate

Amﬂ. te | |
| Scanned with CamScanner
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cbw by e gIve & e ey
B Whie by of the follw g ¢ aymposiineds doe . ¥ Wheoyy, Iy

=<-f":!|.1|‘t-‘f!,'z'~l ® LY "-f’uv;ul‘" "
I- U Fi

gy ‘J.H'J[M;Ienml (M Fthyl benzoate ,
ey A4 nw thiy by Johe s anes i 4 Heptano,

LRy wat (4) ) ' ' f '
:' Which of the folbow s ||uu"'a mid PIve a pleatmol Ba My L.
treal vl -‘l:"l i\”'g ‘Ar“!“‘il;"'} ”;‘, ™
(i CHOHCH gy |

oy (RO CHOHD

(OO0, () CHLNLCOOH

Amamer () "
1% A deohols react with active metals (Na, K ete ) to prronhug
gay

Ly orygen ih) hydrogen (€) nitrogen
Amemey (M)

0 Primary alky! ak ohols rewd
(ay primary alky! halides

pw ith thiony D ehlonide (SOUT 31 g,
(hy sevondary alkyl ot

(e scud hahides le) Do reaction

Apwwerr ()
1. Phiony | chlonde, SOUT, reacts W it sopropy Lateohol (CH oy,
("' l".'llﬂll‘p[nr\m' '

{a) 2-C hloropropane
(«r Avetone

ey 2Propanol

Amewer (@)

32, PHe . reacts with ethanol to give
ta)  ITnbromocthane
tc) Bromoethane

(M Nromocthano!
() Noreaction

Amawer, ()
LA N Ihe reaction of HEr with £-butylalcohol gives
(h anacud

) analkane
(«y adibromde

() analkyl bromde
Answer i¢)
M, The reaction of 7-butyl alcobol with HCTatroom temperature gives

{ay t-butyl chlonde (b 1-butyl bromide

) wobutyl chlonde (fr analkene

\oawmer ()

3S. Which reagent would be best for the conversion of fert-butanol nto forrbun! beed!
(a) PBr, (b Hik (¢) Nab () Br. N
Apewer, (1)
36. Which of the following will ot convert 1-butanol into 1-chlorobutane one st
(a) SOC, {hy PCly () HOY (@ 04
Ansser. (dy
317, What molecule 15 lostin a dehydration reaction
{a) Ether (h) Alcohot (¢) Water () Hydoe®
Answir, (o)
3K, lsopropyl alcohol, (CH,CHOH, reacts with hot concentrated HLSU g
(a) Propane () 2-Propanol (¢) Propene () Propt®
Answer, (0) N
Jehydid®

19, What is the major product obtamned from the acid-catalyzed
i -miethyloyclohexanol ?
(@) methyleyclobexane () 1-methylcyclohexene
(¢) 3-methyleyelohexene (e 2.methylcyclobexene
Answer, (h) -
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) Acet cated with PCC in dny methylene chloride ?
Y (5 Acctaldehvd
h ' vetal cnvace
i A CCLK a td
it l”?\}\h]\“'h’\'
Amswer, (b))
46 What yminouand e o i i
X hat compound s formed when propanol treate ik D \
I prog 18 treated with PCC i diy methylene
1 3 R 1 - Yol | !
(a) Propanoic acid (" Propane

] - . .
(c) Propanal () Propanone
Answer, (o)
47. r h bass Mlrasns P | ’
) : \\hu..o!t,yi«.uhsqq compounds 1s nor oxidized by pyndimum chlorochromate
HARE
(a) 2-Mecthyl-2-butanol (" 1-Pentanol
(¢} 2-Pentanol () 1,3-Propanediol
Amswer. (g)
foll 8. To distinguish among primary, secondary. and tertiary alcohols, one would use the
Gik y 4 n—
Wing experimental method
(@) Sandmeyer reaction (5) Ninhydnn test
(¢) Lucas test (@) Tollens’ reagent
Answer. (¢) f

L T

9. The Lucas test is used to distinguish small (7 or fewer carbons) 1%, 2" and 3" alcohols.
E’; Ef’mh_al tobe tt‘sfed is added to a solution of anhydrous ZnCl, in conc. HCl at room temperature
neh of the following statements is not correct ?
{a) 1%-alcohols dissolve, but do not react.
(b} 3°-alcohols react quickly to give an insoluble alky! chloride. v
{¢) 3%alcohols rapidly dehydrate, and the gaseous alkene bubbles out of the test
solutton,

(d) 2*-alcohols dissolve and react slowly to give an insoluble alkyl ¢
Anywer, (e}

hlonde
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MULTIPLE CHOICE QUESTIONS (ﬁ

1 AL MPOISOMCTS AT ;\\nlh ¢ for. 21 butanedio] ”
¢4 MR ma s
| ] b a () 3 :
'\f‘"\" How mam Geremsomens of 2 3butancdiol, CHLOCHIOECHIOH v 1y
) ; 4‘“ (b 3 () |
{al <
\mveyr (0
1 Arran e the COMPOR mdsn the order of e reasing H"Uh lity i ¢
- 1 CHOM I (IHH(HlHuw;
M CHCHOHOH NV HOCHCHZCHACHACH o
) IVULILE (hy 1L HELIV
() HLIVILT () HIN T
\nswer, (0

& Which of the following has the highest boiling pont ”

i CHOCH-CH.CHOH (hy CHOCH.CH.OCH,
(cy HOCHLH.CHOH (h CHOCH.CH.OH
Apewer, (O
\ & 8. The formation of ethvlene glveol (HOCH,CH,OH) from ethylene (H.(=CH. s
' exampie of
(@) oxidation (k) reduction
(¢} dehydration (d) hydrogenation
Anewer. fal 0 0
L ) _ o
6. Lithrum alummium hydride (LIAIH,) reacts with glyoxal, H—C—C—H.wze
fay CHCO-H (h) HOCH,CH,OH
§ (© HC=CH, (d) HOCH,CO.H
3 amswer., (7}

. Vicinal diols can be prepared by ?
e midiz_"ing alkanes with Os0, (h) oxidizing alkenes with 050,
1) reducing alkanes with 0sQ, (d) reducing alkenes with 050
Answer, (P}
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N s 2 svathesarad ™y reacting an alkene with
@ AR ™ borane () oo Gy o tetrorcieds
‘
{ O, ws often usad o form drols from alkenes instead of K M Vo lor whint renson
s RSSO O Te e hagher yielids
SosIs less GO e cotorlens g
- &

Whach s the mapor product from the reaction ol propene with OO SOOI

&) 1-Propancl (M2 Propanol
1 2-Propanadiol (ALY Propandiol
Il Penodic acd (HIO s used to?
w2y oxadize aldehydes (b oxadize penmmal dioly
o) oxadize vicmnal diols (4/) onidize ketones
ABSWET, g
12 Treamment of a 1.2 diol (vicinal diol) with penodic acid results m

leavace to alkenes and alkanes.
(5) cleavace to carbon dioxide and water.

(o) cleavage to carboxylic acids and alcohols

imswer. (). Pentadic acid cleav

None of the above
ace of vicinal diols gives aldehydes and ketones,
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